Faculdade de Ciências e Tecnologia
Departamento de Engª Electrónica e Informática
Electrónica de Potência 2008


Folha de Problemas #4
Deadline:07 Maio 2008

Problema 1


[image: image1.png]5-1 In the basic circuit of Fig. 5-3a, V, = 120 V at 60 Hz, L = 10 mH, and R = 5 (). Calculate and
plot the current i along with v,.




Problema 2


[image: image2.png]5-2 In the basic circuit of Fig. 5-4a, V, = 120 V at 60 Hz, L = 10 mH, and V, = 150 V. Calculate
and plot the current i along with v,.




Problema 3


[image: image3.png]5-3 The voltage v across a load and the current i into the positive-polarity terminal are as follows (where
; and w; are not equal): '
vi) =V, + \/-2_V1cos(w1t) + \/iVlsin(wlt) + \/§V3cos(w3t) v
i6) = I, + V2ILcos(wf) + V2Iscos(wst — ¢3) A
Calculate the following:
(a) The average power P supplied to the load
(b) The rms value of v(r) and i(¢)
(c) The power factor at which the load is operating
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Figure 5-3 Basic rectifier with an inductive load.
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Figure 5-4 Basic rectifier with an internal dc voltage.
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